
Chapter 6 Pre-test 

Non-Calculator portion 

1) Find 2A- 3B. 

College Algebra 
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2) Solve for x and y. 
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6) Use an inverse matrix to solve: 
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Calculator portion 

7) Mr. Sull ivan had $20,000 to invest. He invested part at 3% and the 

rest at 2% .. Aft~r one year he earned $520. O 3 X ...j. 0 -z_. V -'.'.2 r--7 ;) 
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8) Use an inverse matrix to 
solve the system. 

{ X + 2y - Z = 3 (0-J{g] 3x - 3y + z = -14 
2x - 4y + 3z = -13 
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9) Use Cramer's Rule to solve 
the system . ----1 
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2x-y + z = -7 
X + 3y- 2z = 11 
X - 3y + 2z = -13 
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1 O) Find the determinate of the coefficient matrix from #9. 
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